| Efficiency vs Dxy |

> 0.1
Pad
i®)
.09
>
3.08
D
D.07
©
0.06
0.05
0.04
0.03

0.02
0.01

b

0.8

Ratio

+

_JB20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_TT_baseR_noSel_ok
| Efficiency vs Dz | —— DQM_mKFit_TT_base_8iter_noSel_ok

—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok
N 0.1 ; : . .

9.09
Py
Hos
(&)
.07
()
0.06
008 GIHIL bl 4o
YO 11 L ESSE R X o A

TT
»-
=

0.03kHH

L Lo
T L

0.02

0.00EHH |- 98 4} | | :
q_—:n I- I é—--ﬂ -------- 1 : ﬁ tE o n;---n-----qr

0.gfffid oo LATAITL LI it TN L

L T
R 1 S SR Lo

-30 -20 -10 20 30
TP dz (cm)

Ratio




	Contents
	Page 1


